Best model for HELP J105333.886+581732.527 atz = 1.52 )(2=6.07
OPTx?=6.28 IRx?=7.12 threshold (OPT IR)=20.16 [um]

Stellar attenuated

102 4 LT Stellar ullﬁat.tenuated
E —— Dust emission
] —— AGN emission
101 E = Model spectrum
E ® Model fluxes
100 ] M oObserved fluxes
= o1 : T
= - - Nasmthd \,
£ 1071 4t -
< ]
=] 10 2 3 1
L ]
1073 4
1074 4
107> 3
= E
z 14
© 1 =f= (Obs-Mod)/Obs
S ]
S
n
O — ———————————————————— -
o ]
) ]
2 ]
5 ]
© -1 T T — 7
& 10° 10! 102 103

Observed wavelength [um]

T CIGALE



